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6HSWLND�5�$��������³+XEXQJDQ�7LQJNDW�3HQJHWDKXDQ�3HWDQL�GHQJDQ�7LQJNDW�
3URGXNWLYLWDV� .RSL� $UDELND� GL� .HFDPDWDQ� .D\X� $UR� %DUDW� .DEXSDWHQ�
.HULQFL´��

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN�PHQGHVNULSVLNDQ� GDQ�PHQJDQDOLVLV� WLQJNDW�
SHQJHWDKXDQ� SHWDQL� NRSL� DUDELND� GL� .HFDPDWDQ� .D\X� $UR� %DUDW�� WLQJNDW�
SURGXNWLYLWDV� NRSL� DUDELND� \DQJ� GLKDVLONDQ� GL� .HFDPDWDQ� .D\X� $UR� %DUDW�� GDQ�
KXEXQJDQ�WLQJNDW�SHQJHWDKXDQ�SHWDQL�GHQJDQ�WLQJNDW�SURGXNWLYLWDV�NRSL�DUDELND�GL�
.HFDPDWDQ�.D\X�$UR�%DUDW��

-HQLV�SHQHOLWLDQ�LQL�DGDODK�GHVNULSWLI�NXDQWLWDWLI��3RSXODVL�GDODP�SHQHOLWLDQ�
LQL�EHUMXPODK�����RUDQJ�GHQJDQ�VDPSHO����UHVSRQGHQ��7HNQLN�SHQJXPSXODQ�GDWD�
PHQJJXQDNDQ�LQVWUXPHQ�WHV�GDQ�SHQ\HEDUDQ�DQJNHW�NXLVLRQHU��$QDOLVLV�GHVNULSWLI�
GDODP� SHQHOLWLDQ� LQL� PHQJJXQNDQ� UXPXV� SHUVHQWDVH VHUWD� XML� KLSRWHVLV�
PHQJJXQDNDQ�UXPXV�NRUHODVL�SURGXFW�PRPHQW�

+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNNDQ� EDKZD� ���� WLQJNDW� SHQJHWDKXDQ� SHWDQL�
WHUPDVXN� NDWHJRUL� FXNXS� WLQJJL GDQ� ���� WLQJNDW� SURGXNWLYLWDV� NRSL� DUDELND� \DQJ�
GLKDVLONDQ� WHUPDVXN� NDWHJRUL� VHGDQJ� VHUWD ��� WHUGDSDW� KXEXQJDQ� DQWDUD� WLQJNDW�
SHQJHWDKXDQ� SHWDQL� GHQJDQ� WLQJNDW� SURGXNWLYLWDV� NRSL� DUDELND� \DQJ� GLEXNWLNDQ�
GHQJDQ�SHUKLWXQJDQ�GLPDQD� UKLWXQJ !� UWDEHO \DNQL ������!��������+XEXQJDQ�DQWDUD�
NHGXD�YDULDEHO� LQL�EHUVLIDW�SRVLWLI�NDUHQD�QLODL� U�SRVLWLI�GDQ�EHUDGD�SDGD�NDWHJRUL�
UHQGDK�

.DWD� .XQFL�� .RSL� $UDELND�� 3HWDQL�� 7LQJNDW� 3HQJHWDKXDQ�� 3URGXNWLYLWDV��
+XEXQJDQ


